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The following appeared in the editorial section of a campus newspaper:

“Because occupancy rates for campus housing fell during the last academic
year, so did housing revenues. To solve the problem, campus housing officials
should reduce the number of available housing units, thereby increasing the
occupancy rates. Also, to keep students from choosing to live off-campus,
housing officials should lower the rents, thereby increasing demand.”

Discuss how well reasoned ... etc.






The author claims that __ 43k | because ¥
x/M7E_ . This assumption is unwarranted
because things rarely remain the same over
extended period of time. There are likely all kinds
of difference between jidX and_ J§3 . For
example, _ i§3¢_ ; however, _ j3%_ . Any of these
scenarios, if true, would serve to undermine the
claim that ____.
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